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�?464 1. �E>5> >?4E=O5 5>?57=< 6<6>F=OE

�4D47D4D 1. �DGF5??57

1.

$54>F<O E6O7O64=<O
>><??5<5=F4 4?O 
<E?OF4=<O =4 
5DGF5??57 (6 F>< 
G<E?5 F<FD4F<O)

<5?><= D>74FO= 
E>>F (44?55 3 �$%)

222,93 180,75

2.

$54>F<O $>7-�5=74? 
?D>5O 4?O  
<E?OF4=<O =4 
5DGF5??57

�$% 154,89 112,72

3.

�5D5EF4=>6>4 
D 5 4 > F < <  
477?NF<=4F<< 4?O 
<E?OF4=<O =4 
5DGF5??57

�$% 180,32 138,15

4.

�5D5EF4=>6>4 
D54>F<< E6O7O64=<O
>><??5<5=F4 4?O 
<E?OF4=<O =4 
5DGF5??57

�$% 244,35 202,17

5.

$ 5 4 > F < O  
477?NF<=4F<< 4?O 
<E?OF4=<O =4 
5DGF5??57

�$% 166,05 123,88



6.
$54>F<O E6O7O64=<O
>><??5<5=F4 4?O 
<E?OF4=<O =4 
5DGF5??57 (6 F>< 
G<E?5 F<FD4F<O)

>DG?=O= D>74FO= 
E>>F (44?55 3 �$%)

222,93 180,75

7.

$54>F<O $>7-�5=74? 
?D>5O 4?O  
<E?OF4=<O =4 
5DGF5??57

�$% 156,41 114,24

8.

�5D5EF4=>6>4 
D 5 4 > F < <  
477?NF<=4F<< 4?O 
<E?OF4=<O =4 
5DGF5??57

�$% 180,13 137,95

9.

�5D5EF4=>6>4 
D54>F<< E6O7O64=<O
>><??5<5=F4 4?O 
<E?OF4=<O =4 
5DGF5??57

�$% 244,35 202,17

10.

$ 5 4 > F < O  
477?NF<=4F<< 4?O 
<E?OF4=<O =4 
5DGF5??57

�$% 165,99 123,81

11.

$54>F<O E6O7O64=<O
>><??5<5=F4 4?O 
<E?OF4=<O =4 
5DGF5??57 (6 F>< 
G<E?5 F<FD4F<O)

65D5?N4O 222,93 180,75

12.

$54>F<O $>7-�5=74? 
?D>5O 4?O  
<E?OF4=<O =4 
5DGF5??57

65D5?N4O 156,41 114,24

13.

�5D5EF4=>6>4 
D 5 4 > F < <  
477?NF<=4F<< 4?O 
<E?OF4=<O =4 
5DGF5??57

65D5?N4O 180,13 137,95

14.

�5D5EF4=>6>4 
D54>F<< E6O7O64=<O
>><??5<5=F4 4?O 
<E?OF4=<O =4 
5DGF5??57

65D5?N4O 244,35 202,17

15.

$ 5 4 > F < O  
477?NF<=4F<< 4?O 
<E?OF4=<O =4 
5DGF5??57

65D5?N4O 165,99 123,81

16.

$54>F<O E6O7O64=<O
>><??5<5=F4 4?O 
<E?OF4=<O =4 
5DGF5??57 (6 F>< 
G<E?5 F<FD4F<O)

?>L44< 222,93 180,75



17.
$54>F<O $>7-�5=74? 
?D>5O 4?O  
<E?OF4=<O =4 
5DGF5??57

?>L44< 156,41 114,24

18.

�5D5EF4=>6>4 
D 5 4 > F < <  
477?NF<=4F<< 4?O 
<E?OF4=<O =4 
5DGF5??57

?>L44< 180,13 137,95

19.

�5D5EF4=>6>4 
D54>F<< E6O7O64=<O
>><??5<5=F4 4?O 
<E?OF4=<O =4 
5DGF5??57

?>L44< 244,35 202,17

20.

$54>F<O E6O7O64=<O
>><??5<5=F4 4?O 
<E?OF4=<O =4 
5DGF5??57 (6 F>< 
G<E?5 F<FD4F<O)

E6<=L< 222,93 180,75

21.

$54>F<O $>7-�5=74? 
?D>5O 4?O  
<E?OF4=<O =4 
5DGF5??57

E6<=L< 156,41 114,24

22.

�5D5EF4=>6>4 
D 5 4 > F < <  
477?NF<=4F<< 4?O 
<E?OF4=<O =4 
5DGF5??57

E6<=L< 180,13 137,95

23.

�5D5EF4=>6>4 
D54>F<< E6O7O64=<O
>><??5<5=F4 4?O 
<E?OF4=<O =4 
5DGF5??57

E6<=L< 244,35 202,17

24.

$54>F<O E6O7O64=<O
>><??5<5=F4 4?O 
<E?OF4=<O =4 
5DGF5??57 (6 F>< 
G<E?5 F<FD4F<O)

??>F>O4=O5 222,93 180,75

25.

$ 5 4 > F < O  
477?NF<=4F<< 4?O 
<E?OF4=<O =4 
5DGF5??57

??>F>O4=O5 165,99 123,81

26.

�5D5EF4=>6>4 
D 5 4 > F < <  
477?NF<=4F<< 4?O 
<E?OF4=<O =4 
5DGF5??57

??>F>O4=O5 180,13 137,95

27.

�5D5EF4=>6>4 
D54>F<< E6O7O64=<O

??>F>O4=O5 202,17



>><??5<5=F4 4?O 
<E?OF4=<O =4 
5DGF5??57

244,35

28.

$54>F<O E6O7O64=<O
>><??5<5=F4 4?O 
<E?OF4=<O =4 
5DGF5??57 (6 F>< 
G<E?5 F<FD4F<O)

<4D4?O 222,93 180,75

29.

$54>F<O $>7-�5=74? 
?D>5O 4?O  
<E?OF4=<O =4 
5DGF5??57

<4D4?O 154,89 112,72

30.

�5D5EF4=>6>4 
D 5 4 > F < <  
477?NF<=4F<< 4?O 
<E?OF4=<O =4 
5DGF5??57

<4D4?O 180,55 138,38

31.

�5D5EF4=>6>4 
D54>F<< E6O7O64=<O
>><??5<5=F4 4?O 
<E?OF4=<O =4 
5DGF5??57

<4D4?O 244,35 202,17

32.

$ 5 4 > F < O  
477?NF<=4F<< 4?O 
<E?OF4=<O =4 
5DGF5??57 >?5=< (
<4D4?O)

<4D4?O 166,13 123,95

33.
�4>F5D<>?>7<G5E>>5
<E?OF4=<5 =4 
5DGF5??57

6E5E 6<4>6 5 163,57

34.

�>?<<5D47=4O 
F5?=4O D54>F<O 4?O 
<E?OF4=<O =4 
5DGF5??57

6E5E 6<4>6 7 563,76

35.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 
5DGF5??57

�$% <>?>4=O> 968,20 926,02

�4D47D4D 2. �=D5>F<>==O= M?<4<4<<<F 54D4=>6

36.

$ 5 4 > F < O  
4?<F5?L=>7> 
E6O7O64=<O 
>><??5<5=F4 4?O 
<E?OF4=<O =4 
<=D5>F<>==O= 
M?<4<4<<<F

5 4 D 4 = O  3  
?D><76>4<F5?< 255,91 213,73

37.

�5D5EF4=>6>4 
D 5 4 > F < <  
4?<F5?L=>7> 
E6O7O64=<O 
>><??5<5=F4 4?O 

54D4=O3?D><76>4<F
5?<

246,16



<E?OF4=<O =4 
<=D5>F<>==O= 
M?<4<4<<<F

288,34

�4D47D4D 3. %?4<<4<>7=O= (M=7>>F<G5E><=) 45>DF >65F

38.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 
E?4<<4<>7 (??5<E>7
)

�$%, �$% 758,10 715,92

39.

�>?<<5D47=4O 
F5?=4O D54>F<O 4?O 
<E?OF4=<O =4 
E?4<<4<>7

�$%, �$% 10 818,90

�4D47D4D 4. /MGD

40.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 OMGD 
(=4?DO65==>EFL 
<<<G=<F5F4) F<? �

�$%, �$%, E6<=L< 732,14 689,96

41.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 OMGD 
(=4?DO65==>EFL 
<<<G=<F5F4) F<? �

�$%, �$%, E6<=L< 658,00 615,82

42.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 /MGD 
(=4?DO65==>EFL 
<<<G=<F5F4) F<? 
�7<O-1

�$%, �$%, E6<=L< 683,85 641,67

43.
�>?<<5D47=4O 
F5?=4O D54>F<O 4?O 
<E?OF4=<O =4 OMGD

6E5E 6<4>6 8 824,77

44.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 OMGD 
(=5EFDG>FGD=O5 
55?><)

>5M55 510,60 468,42

�4D47D4D 5. �5=>>7

45.

$ 5 4 > F < O  
<<<G=>4<DDG7<< 
4?O <E?OF4=<O =4 
?5=>>7

�$% 556,95 514,77

46.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 
?5=>>7

�$% 912,10 869,92

47.

�>?<<5D47=4O 
F5?=4O D54>F<O 4?O 

�$% 11 339,12



<E?OF4=<O =4 
?5=>>7

�4D47D4D 6. �5?F>E?<D>7

48.
$ 5 4 > F < O  
<<>D>477?NF<=4F<<
=4 ?5?F>E?<D>7

6E5E 6<4>6 522,58 480,41

49.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 
?5?F>E?<D>7

6E5E 6<4>6 1 757,17 1 715,00

50.

�>?<<5D47=4O 
F5?=4O D54>F<O 4?O 
<E?OF4=<O =4 
?5?F>E?<D>7

6E5E 6<4>6 10 650,44

�4D47D4D 7. �<EF5D<>7

51.

$54>F<O E6O7O64=<O
>><??5<5=F4 4?O 
<E?OF4=<O =4 
?<EF5D<>7 (6 F>< 
G<E?5 F<FD4F<O)

6E5E 6<4>6 334,08 291,90

52.
�4>F5D<>?>7<G5E>>5
<E?OF4=<5 =4 
?<EF5D<>7

6E5E 6<4>6 5 553,47

53.

�>?<<5D47=4O 
F5?=4O D54>F<O 4?O 
<E?OF4=<O =4 
?<EF5D<>7

6E5E 6<4>6 10 902,69

�4D47D4D 8. �=D5>F<>==4O 4=5<<O

54.

$54>F<O 4<DDG7=>= 
?D5F<?<F4F<< 4?O 
<E?OF4=<O =4 
<=D5>F<>==GN 
4=5<<N

?>L44< 894,73 852,56

55.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 
<=D5>F<>==GN 
4=5<<N

?>L44< 2 124,30 2 082,12

�4D47D4D 9. -?<7>>F<G5E><= ?<<D4=7><F

56.

$ 5 4 > F < O  
4?<F5?L=>7> 
E6O7O64=<O 
>><??5<5=F4 4?O 
<E?OF4=<O =4 
M?<7>>F<G5E>>7> 
?<<D4=7><F4

?>L44< 945,91 903,74

�4D47D4D 10. �4D4FG55D>G?57

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 



57. <E?OF4=<O =4 
?4D4FG55D>G?57

6E5E 6<4>6 636,27 594,09

58.

�>?<<5D47=4O 
F5?=4O D54>F<O 4?O 
<E?OF4=<O =4 
?4D4FG55D>G?57

6E5E 6<4>6 11 344,59

�4D47D4D 11. �4EF5D5??57

59.
�4>F5D<>?>7<G5E>>5
<E?OF4=<5 =4 
?4EF5D5??57

6E5E 6<4>6 6 039,86

60.

�>?<<5D47=4O 
F5?=4O D54>F<O 4?O 
<E?OF4=<O =4 
?4EF5D5??57

6E5E 6<4>6 11 139,99

�4D47D4D 12. &G55D>G?57

61.
�4>F5D<>?>7<G5E>>5
<E?OF4=<5 =4 
FG55D>G?57

�$% 5 102,07

62.

�>?<<5D47=4O 
F5?=4O D54>F<O 4?O 
<E?OF4=<O =4 
FG55D>G?57

�$% 11 096,61

63.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 
FG55D>G?57

�$% 5 137,75 5 095,57

�4D47D4D 13. -<D<75<4F>7=O= >4D5G=>G?

64.

�4>F5D<>?>7<G5E>>5
<E?OF4=<5 =4 
M<D<75<4F>7=O= 
>4D5G=>G?

�$% 5 902,33

�4D47D4D 14. �D447>F

65.
�4>F5D<>?>7<G5E>>5
<E?OF4=<5 =4 
5D447>F

�$% 6 063,20

�4D47D4D 15. �=4MD>5=4O M=F5D5F>>E5<<O

66.

�4>F5D<>?>7<G5E>>5
<E?OF4=<5 =4 
4=4MD>5=GN 
M=F5D>F>>E5<<N

�$% 10 189,05

�4D47D4D 16. �4<?<?>54>F5D<>7

67.
�4>F5D<>?>7<G5E>>5
<E?OF4=<5 =4 
>4<?<?>54>F5D<>7

�$% (??5<5==>5 
E>7O=EF6>)

4 465,96

68.

�>?<<5D47=4O 
F5?=4O D54>F<O 4?O 
<E?OF4=<O =4 
>4<?<?>54>F5D<>7

??5<5==>=
�$%

11 345,70

�4D47D4D 17. %<5<DE>4O O764



69.
�4>F5D<>?>7<G5E>>5
<E?OF4=<5 =4 
E<5<DE>GN O76G

6E5E 6<4>6 5 073,31

70.

�>?<<5D47=4O 
F5?=4O D54>F<O 4?O 
<E?OF4=<O 
E<5<DE>GN O76G

6E5E 6<4>6 7 351,07

�4D47D4D 18. �5L5=EF6>

71.

�<<G=>7?>5G?<= 
4<47=>EF<G5E><= 
4=F<D45<G5E><= 
?D5F<?<F4F<< 4?O 
<E?OF4=<O =4 
55L5=EF6>

6E5E 6<4>6 13 981,96

72.

�<<G=>7?>5G?<= 
4<47=>EF<G5E><= 
4=F<D45<G5E><= 
D?ND5EF<DGNM<= 
4?O <E?OF4=<O =4 
55L5=EF6>

6E5E 6<4>6 13 520,10

73.
�<DGE>?>7<G5E>>5 
<E?OF4=<O =4 
55L5=EF6>

6E5E 6<4>6 2 757,18

�4D47D4D 19. 'G<4 ??>F>O4=OE

74.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 GG<G 
??>F>O4=OE

??>F>O4=O5 3 018,10 2 975,92

75.

�>?<<5D47=4O 
F5?=4O D54>F<O 4?O 
<E?OF4=<O =4 GG<G 
??>F>O4=OE

??>F>O4=O5 11 094,21

�4D47D4D 20. �E?4

76.
$54>F<O 4<DDG7=>= 
?D5F<?<F4F<< 4?O 
<E?OF4=<O =4 >E?G

�$% 2 380,89 2 338,71

77.

�>?<<5D47=4O 
F5?=4O D54>F<O 4?O 
<E?OF4=<O =4 >E?G 
>65F

�$% 11 661,81

�4D47D4D 21. �OE>>>?4F>75==O= 7D<?? ?F<F

78.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 
6OE>>>?4F>75==O= 
7D<??

?F<FO 582,82

79.

�>?<<5D47=4O 
F5?=4O D54>F<O 4?O 

8 761,93



<E?OF4=<O =4 
6OE>>>?4F>75==O= 
7D<??4

?F<FO

�4D47D4D 22. �?GF4=7

80.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 
5?GF4=7

�$% 648,10 605,92

81.

�>?<<5D47=4O 
F5?=4O D54>F<O 4?O 
<E?OF4=<O =4 
5?GF4=7

�$% 9 572,38

�4D47D4D 23. �<DGE=4O 4<4D5O

82.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 
6<DGE=GN 4<4D5N

�$% 713,00 670,82

83.

�>?<<5D47=4O 
F5?=4O D54>F<O 4?O 
<E?OF4=<O =4 
6<DGE=GN 4<4D5N

�$% 9 131,33

�4D47D4D 24. �=D5>F<>==O= D<=>FD4E5<F

84.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 
<=D5>F<>==O= 
D<=>FD4E5<F

�$% 609,60 567,42

85.

�>?<<5D47=4O 
F5?=4O D54>F<O 4?O 
<E?OF4=<O =4 
<=D5>F<>==O= 
D<=>FD4E5<F

�$% 7 494,54

�4D47D4D 25. �>?57=L ,<4??5=55D7

86.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 
5 > ? 5 7 = L  
,<4??5=55D74

�$% 1 250,90 1 208,72

87.

�>?<<5D47=4O 
F5?=4O D54>F<O 4?O 
<E?OF4=<O =4 
5 > ? 5 7 = L  
,<4??5=55D74

�$% 9 965,76

�4D47D4D 26. �>4G?OD=O= 45D<4F<F

88.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 
=>4G?OD=O= 
45D<4F<F

�$% 1 439,31 1 397,13



89.

�>?<<5D47=4O 
F5?=4O D54>F<O 4?O 
<E?OF4=<O =4 
=>4G?OD=O= 
45D<4F<F �$%

�$% 10 678,78

�4D47D4D 27. $<=>?=56<>=<O

90.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 
D<=>?=56<>=<N

?>L445= 3 444,85 3 402,67

�4D47D4D 28. &>>E>??47<>7

91.

$54>F<O E6O7O64=<O
>><??5<5=F4 4?O 
<E?OF4=<O =4 
F>>E>??47<>7 (6 F><
G<E?5 F<FD4F<O)

6E5E 6<4>6 3 428,94 3 386,77

92.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 
F>>E>??47<>7

6E5E 6<4>6 1 561,70 1 519,53

�4D47D4D 29. �>?57=L �G5E><

93.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 
5>?57=L �G5E><

>5M<5 1 120,00 1 077,82

�4D47D4D 30. �D<??

94.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 7D<??
?>L445=

?>L445= 1 543,50 1 501,32

95.

�>?<<5D47=4O 
F5?=4O D54>F<O 4?O 
<E?OF4=<O =4 7D<??
E6<=5=

E6<=L< 9 510,02

�4D47D4D 31. �4D47D<??-3

96.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 
?4D47D<??-3

�$% 2 616,00 2 573,82

97.

�>?<<5D47=4O 
F5?=4O D54>F<O 4?O 
<E?OF4=<O =4 
?4D47D<?-3

�$% 11 469,19

�4D47D4D 32. �>?57=L E>D5?<

98.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 
5>?57=L E>D5?<

�$% 1 882,31 1 840,13

�4D47D4D 33. �>?57=L �M4<-6<E=4



99.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 
5 > ? 5 7 = L  
�M4<-�<E=4

�$% 1 362,01 1 319,83

�4D47D4D 34. �?4EE<G5E>4O GG<4

100.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 
>?4EE<G5E>GN GG<G 
E6<=5=

E6<=L< 1 630,40 1 588,22

101.

�>?<<5D47=4O 
F5?=4O D54>F<O 4?O 
<E?OF4=<O =4 
>?4EE<G5E>4O GG<4 
E6<=5=

E6<=L< 10 880,71

�4D47D4D 35. $>64

102.
�4>F5D<>?>7<G5E>>5
<E?OF4=<O =4 D>6G 
E6<=5=

E6<=L< 5 370,78

�4D47D4D 36. �57<>G?OD=4O 5>?57=L

103.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 
657<>G?OD=GN 
5>?57=L E6<=5=

E6<=L< 1 444,79 1 402,62

�4D47D4D 37. �>?57=L �4<5>D>

104.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 
5>?57=L �4<5>D>

?F<FO 692,10 649,92

�4D47D4D 38. $5E?<D4F>D=O= <<>>??47<>7

105.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 
D5E?<D4F>D=O= 
<<>>??47<>7 
�4??<E5?F<>G< (
M.Galliseptikum)

?F<FO 853,80 811,62

106.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 
D5E?<D4F>D=O= 
<<>>??47<>7 
% < = > 6 < O  (
M.Synoviae)

?F<FO 853,80 811,62

�4D47D4D 39. �?<EF>DE>7

107.

�4D47<F>?>7<G5E>>5
<EE?54>64=<5 4?O 

DO5 4 843,89



<E?OF4=<O =4 
>?<EF>DE>7

�4D47D4D 40. �4DD>4F>7

108.

�4D47<F>?>7<G5E>>5
<EE?54>64=<O 4?O 
<E?OF4=<O =4 
64DD>4F>7

?G5? 824,62

�4D47D4D 41. �E>>D5D>7

109.

�<>>?>7<G5E>>5 
<EE?54>64=<O 4?O 
<E?OF4=<O =4 
4E>>D5D>7

?G5? 598,13

�4D47D4D 42. �DD<>4=E>4O GG<4

110.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 
4DD<>4=E>GN GG<G 
E6<=5=

E6<=L< 900,00 857,82

111.

�>?<<5D47=4O 
F5?=4O D54>F<O 4?O 
<E?OF4=<O =4 
4DD<>4=E>GN GG<G 
E6<=5=

E6<=L< 10 942,31

112.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 
4DD<>4=E>GN GG<G 
?>L445=

?>L44< 900,00 857,82

�4D47D4D 43. �=D5>F<>==O= ?4D<=7>FD4E5<F

113.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 
<=D5>F<>==O= 
?4D<=7>FD4E5<F 
?F<F

?F<FO 857,82

�4D47D4D 44. �>?57=L �LN>4E?4

114.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 
5>?57=L �LN>4E?4

?F<FO 811,62

115.

�>?<<5D47=4O 
F5?=4O D54>F<O 4?O 
<E?OF4=<O =4 
5>?57=L �LN>4E?4

?F<FO 10 868,38

�4D47D4D 45. �5<>DD47<G5E>4O E5?F<F5<<O >4D?>6

116.

�4>F5D<>?>7<G5E>>5
<EE?54>64=<5 4?O 

3 400,92



<E?OF4=<O =4 
75<>DD47<G5E>GN 
E5?F<F5<<N >4D?>6

DO5

�4D47D4D 46. �G5>>>5D47=4O M=F5D4?>?4F<O

117.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 
7G5>>>5D47=GN 
M=F5D4?>?4F<N 
�$%

�$% 8 107,21 8 065,03

�4D47D4D 47. &D<E>D<F<O

118. &D<E>D<F<O 6E5E 6<4>6 1 522,16

�4D47D4D 48. 'G<4 >DG?=>7> D>74F>7> E>>F4

119.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 GG<G 
�$%

�$% 6 494,60 6 452,42

�4D47D4D 49. 'G<4 <5?>>7> D>74F>7> E>>F4

120.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 GG<G 
�$%

�$% 900,00 857,82

121.

�>?<<5D47=4O 
F5?=4O D54>F<O 4?O 
<E?OF4=<O =4 GG<G 
�$%

�$% 11 295,39

�4D47D4D 50. %4?

122.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 E4? 
?>L445=

?>L44< 900,00 857,82

�?464 2. -=7>>F<G5E><5 5>?57=< 6<6>F=OE

123.
�4D47<F>?>7<G5E>>5
<EE?54>64=<5 
?<D>??47<>74

?>L44< 991,80

124.
�4D47<F>?>7<G5E>>5
<EE?54>64=<5 
F5=?5D<>74

�$% 991,80

125.
�4D47<F>?>7<G5E>>5
<EE?54>64=<5 
=GFF4?<>74

?>L44< 991,80

126.

�<<G=>D5D<5=F=O
= 4=4?<7 4?O 
<E?OF4=<O =4 
?<D>??47<>7 
?>L445=

?>L44< 856,80 814,62

127.
�4>F5D<>?>7<G5E>>5
<EE?54>64=<5 
=5>D>54>F5D<>74

6E5E 6<4>6 3 216,60



128.
�4>F5D<>?>7<G5E>>5
<EE?54>64=<5 
>>?OF=>= 7=<?<

�$%, �$% 3 216,60

129.
�4>F5D<>?>7<G5E>>5
<EE?54>64=<5 
4<??>>>>>>74

6E5E 6<4>6 2 883,20

130.
�4>F5D<>?>7<G5E>>5
<EE?54>64=<5 <OF4 
?>L445=

?>L44< 2 903,70

131.
�4D47<F>?>7<G5E>>5
<EE?54>64=<5 
?E>D>?F>74

6E5E 6<4>6 911,64

132.
�4D47<F>?>7<G5E>>5
<EE?54>64=<5 
E4D>>?F>74

6E5E 6<4>6 911,64

133.
�4D47<F>?>7<G5E>>5
<EE?54>64=<5 
4D4E=>7>6

6E5E 6<4>6 911,64

134.

�4>F5D<>?>7<G5E>>5
<EE?54>64=<5 
E4?L<>=5??57=>7> 
45>DF4 6<6>F=OE

6E5E 6<4>6 3 846,38

135.

�>?<<5D47=4O 
F5?=4O D54>F<O 4?O 
<E?OF4=<O =4 
E4?L<>=5??57

6E5E 6<4>6 11 198,75

136.

�4D47<F>?>7<G5E>>5
<EE?54>64=<5 
=5<4F>4>7>6 ?> 
< 5 F > 4 G  
�5D<4=4-�D?>64

6E5E 6<4>6 1 017,48

137.

�4D47<F>?>7<G5E>>5
<EE?54>64=<5 
4<>F<>>4G?574 ?> 
< 5 F > 4 G  
�5D<4=4-�D?>64

6E5E 6<4>6 1 017,48

138.

�4D47<F>?>7<G5E>>5
<EE?54>64=<5 
EFD>=7<?><4>74 ?> 
< 5 F > 4 G  
�5D<4=4-�D?>64

6E5E 6<4>6 1 017,48

139.

�4D47<F>?>7<G5E>>5
<EE?54>64=<5 
?4D4E>4D<4>74 ?> 
< 5 F > 4 G  
�5D<4=4-�D?>64

6E5E 6<4>6 1 017,48

140.

�4D47<F>?>7<G5E>>5
<EE?54>64=<5 
4E>4D<4>74 ?> 

6E5E 6<4>6 1 017,48



< 5 F > 4 G  
�5D<4=4-�D?>64

141.
�4D47<F>?>7<G5E>>5
<EE?54>64=<5 
MEFD>74

6E5E 6<4>6 825,18

142.
�4D47<F>?>7<G5E>>5
<EE?54>64=<5 
74EFD>D<?574

6E5E 6<4>6 825,18

143.
�4D47<F>?>7<G5E>>5
<EE?54>64=<5 
7<?>45D<4F>74

6E5E 6<4>6 825,18

144.

�4D47<F>?>7<G5E>>5
<EE?54>64=<5 
75?L<<=F>7>6 
<5F>4>< �4D?<=74

6E5E 6<4>6 1 168,75

145.

�4D47<F>?>7<G5E>>5
<EE?54>64=<5 
=5<4F>4>7>6 
<5F>4>< �4D?<=74

6E5E 6<4>6 1 098,53

146.

�4D47<F>?>7<G5E>>5
<EE?54>64=<5 
=5<4F>4<D>74 
<5F>4>< �4D?<=74

6E5E 6<4>6 1 168,75

147.

�4D47<F>?>7<G5E>>5
<EE?54>64=<5 
FD<E>F5D4?574 
<5F>4>< �4D?<=74

6E5E 6<4>6 1 168,75

148.

&D<?4=>E><>7 
<5F>4>< D54>F<< 
E6O7O64=<O 
>><??5<5=F4 (44?55 
3 $%�) (6 F>< G<E?5 
F<FD4F<O, >>=FD>?L, 
4=F<>><??5<5=F4D=
> E F L ,  
75<>F>>E<G=>EFL)

65D5?N4O, ?>L44<, 
>E?O, <G?O 633,42 591,24

149.

%G-4GDG <5F>4>< 
$%� (6 F>< G<E?5 
F<FD4F<O, >>=FD>?L, 
4=F<>><??5<5=F4D=
> E F L ,  
75<>F>>E<G=>EFL)

65D5?N4O, ?>L44<, 
>E?O, <G?O

633,42 591,24

150.

�4D47<F>?>7<G5E>>5
<EE?54>64=<5 
D4EF<>?574 <5F>4><
?>E?54>64F5?L=>7> 
?D><O64=<O

6E5E 6<4>6 1 011,49

151.
�4>F5D<>?>7<G5E>>5
<EE?54>64=<5 
>>?<54>F5D<>74

6E5E 6<4>6 3 175,21
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